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Question No. 1 is compulsory. 

Attempt five questions in all, selecting at least 

two questions from each Section. 
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I. Attempt any three from the following : 

(i) Define Price Elasticity of Supply. 

3x5=15 

P.T.O. 
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( 2 ) 

(ii) Why is the demand curve downward sloping for a normal good ? 

(iii) Differentiate between Intermediate goods and final goods. 

(iv) What role does money play in a Market Economy ? 

(v) Why does a monopolist not have a supply curve ? 
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Section A 
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(i) What is the Law of demand ? Distinguish betw~en a change in demand and a change 

in quantity demanded, with appropriate diagrams. 8 

(ii) Prove that price elasticity of demand varies from zero to infinity. on a downward sloping 

straight line demand curve. 7 
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3. {i) Derive the Long-run Average Cost (LAC) curve ~fa firm with the help pf ~hgrt-run 

Average Cost (SAC) curves. 7 

(ii) When will a monopolist practice price di~crimination and why ? 8 
. ' ·;,. \ 
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(ii) ~. "Q.Cnrf~ Cfiii:l 3lR cFif ctnrn fcf~ ~ % ? . 

4. · (a) Explain the concept of comparative advantage with an example. 7 

(h) What is the relationship between a firm's short-run average product (AP) curve and 

short-run marginal product (MP) curve. Explain with a diagram. 8 
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Section B 
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5. Explain the Income Method of measuring National Income. 15 

6. Given the following information about an economy : .. 
. Consumption function is C =50+ 0.5Y, Autonomous investment is I= 100. 

(i) Find out the equilibrium level of income and equilibrium level of consumption. 

(ii) Derive the corresponding saving function and value of savings in the economy at 

equilibrium. 

(iii) Calculate the value of Multiplier. 5+5+5 

P.T.O. 
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7. Write short notes on any two of the following : 

(i) Potential and Actual GOP; 

(ii) GOP as an indicator of Welfare; 

(iii) Functions of Money. 71h+71h 

(iii) ~~~I 

6641 4 100. 


	001
	002
	003
	004

